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[A]

ROFEFHEITT DI & L ThRb bR b DEEA T,

When is the meeting?
A) T hope it will be soon.
B) It’s at 2 p.m. in the conference room.

C) I forgot to bring my notebook.

Can you help me with this math problem?
A) Sure, I'd be happy to.

B) I don't understand it either.

C) Math is my favorite subject.

What did you do this weekend?
A) I went to the movies with my friends.
B) I have a lot of homework to do.

C) I'm tired from working all weekend.

Have you finished reading that book?
A) I'm planning to read it tomorrow.
B) The book is very interesting.

C) No, I'm still on the third chapter.

How do you feel about the new project?
A) The project is due next week.
B) I'm a little nervous about it.

C) Of course, I'll help you.

Would you like to go out for dinner tonight?
A) T have to study for a test.

B) I'm not hungry right now.

C) That sounds great, I'm free.

A TEZRE,



[B] RO THEBICALHRGEY/R S DEFEA T, RTTEIRI,

1. The weather forecast says it will be tomorrow.
A) sunny B) funny C) money

2. I'm feeling very after eating so much cake.
A) silly B) tall C) full

3. The cat is sitting on the

A) hat B) mat C) fat

4. She is a very person, always smiling and laughing.
A) negative B) lonely C) friendly

5. I need to my room before my mom comes home.
A) clean B) mean C) team



[C] ROEZNHT HEMZ, FEXTED oSV, BEII TREIBOBLE XISV,

1. Question: to the party tonight?

Answer: Great idea! Tl get ready.

2. Question: that new movie?

Answer: Yes, it was amazing!

3. Question: to the movies with me this weekend?

Answer: Sure, I'd love to.

4. Question: I'm so tired.

Answer: take a break?

5. Question: this weekend?

Answer: I'm going camping with my friends.

6. Question: last night?

Answer: I watched a movie and went to bed early.

(D] RDOLIE, A v F—F Y MZOWTOXLETT, O~BD( YD EEA] 2 W~ % T
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[E] IROPELZFA T, BOMWICEETEZ S,

ZFEDER L. EAE

*7E£) pollution : 5% landfill : #5741 contaminate : ~ %549 %
soil : -, % reduce : J8 5. fi/hT D  waste : BEFEY)
consumption : 4% (&) single-use : fEVMET?D  prioritize : ~& &35

sustainability : ¢ F[REME  government : BURF
biodegradable : 43 fi# FAE7:  invest : & T 5 infrastructure : (#t5) i

1. What is the main problem discussed in the passage?
A) Overpopulation
B) Air pollution
C) Plastic pollution

2. How does plastic pollution harm the environment?
A) It makes the air cleaner.
B) It can harm marine life.

C) It helps plants grow.

3. What is one solution to the problem of plastic pollution?
A) Reducing the use of single-use plastics
B) Increasing the production of plastic products

C) Encouraging people to use more plastic bags



4. What are some examples of single-use plastics mentioned in the passage?
A) Plastic bags and bottles
B) Cars and airplanes

C) Metal cans and glass bottles

5. What does the word innovative in line 9 mean?
A) beautiful
B) revolutionary

C) unfruitful

6. According to the passage, who has a responsibility to address the issue of plastic
pollution?
A) Only governments

B) Individuals, governments, and businesses

C) Only individuals
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. A) tell

. A) when

. A) whose
. A) go

. A) kinds

. A) get out
. A) at

. A) around
. A) self

. A) carry

. A) save

. A) because

B) throw
B) where
B) who

B) went

B) shops

B) collected
B) on

B) with

B) way

B) drag

B) help

B) therefore

cashier : L 1%
order : 1EL
customer : EE

C) take
C) why
C) whom
C) gone
C) kids
C) ate
O to

C) while
C) own
C) drop
C) buy
C) but

convenient : {HFl]7¢
grocer : BEHIE
waste : IRE T 5
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[B] A 2 C 3 B 4 C 5. A

How about going ( to the party tonight? )

Have you seen ( that new movie? )

Do you want to go ( to the movies with me this weekend? )
[C]

Why don’t you ( take a break? )

What are you doing ( this weekend? )

What did you do (last night? )

gives us access to a world of information

almost anything we want

allow us to connect with people
[D]

concerns about the Internet

an important part of our lives

living without the Internet
[E] C 2 B 3 A 4 A 5. B 6.

C 2 A 3 B 4 B 5. A 6.
[F]
A 8 C 9. B 10 A 11. B 12.
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1. WOHEE LRI,
(1) 3+ (-8
(2) 2.21-1.3

(3)

wIlN
AR

4) 6 —9 x (—3)2

3

(5) 6ab? = 3ab

6) 4(3x —1) —5(x — 2)

4a-3b 2a+5b
(7) 5 t 3

(8) V50 ++/48 —+/27 —+/8
9) (V/5—=+2)2

(10) (a—3)(a+1)

(11) (x+3)2 —2(x +3)

2. WOXEREITREL 72 S0,
(1) 16x2 -9

(2) ab—2a+b -2



3. WDOFERXEMEE 72X,
(1) 3x +4=28

(2) %x—i— 2 x+1

{le +19y = 18

@) 11ox + 21y = 22

(4) x?+2x—-3=0

(B) x?4+x—-1=0
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